In newtral or faintly alkaline solution, & moles of
permanganate anion quantitative oxidise thiosulphate anions
to produce X" moles of a sulphur containing product. The
magnitude of Xis ... (2016 Adv.)

In neutral or faintly alkaline solution, MnO) is reduced to MnO,
and $,07 is oxidised 10 SO .

| Chonge in ON = 4 units +
L -
MnO; +128:05 — SOy * MnO,
+7 +2 *6 o
| Change in ON = 3 units t

_ 3 .
Thus, 4MnO; + = 5,07 —» 380] + 4Mn0),

or MO, + 35,07 —3 650; + 8MnO,
Thus, moles of SO; formed by & moles of MnQ); = 6



